Math 232 Calculus 2 Fall 12 Midterm 1b
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e Do any 8 of the following 10 questions.
e You may use a calculator without symbolic algebra capabilities, but no notes

or phones.
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(1) Find [ e'~%* dz.






(3) Find [|z? — 1| dz. Draw a picture of the region.
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(4) Draw a picture of the region bounded by the curve y = 3 cos(z), for 0 < z <
7/2 and y > 0. Write down an integral to give you the volume of revolution

of this region about the z-axis. DO NOT EVALUATE THIS INTEGRAL.
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(5) Use shells to write down an integral for the volume of the cone formed by
rotating the triangle with vertices (0,0),(0,2) and (1,0) about the y-axis.
DO NOT EVALUATE THIS INTEGRAL.
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(6) Consider the subset of the plane bounded by y = 9 — 22 in the first quadrant
(i.e. z > 0and y > 0)._. Find the volume of revolution of the 3-dimensional
shape formed by rotating this region around the z-axis.
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(7) How many trapezoids to you need to use to estimate f; sin(z?)dz to 2 decimal

places?
Recall: the error bound for the trapezoid method is Ka(b — a)®/ (12{\; i 3
where K5 is an upper bound on the absolute value of the second derivative.
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Juv'dxr WV - gu'v dx

(8) Find [ 3ze~% dx.
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(9) Find [ /zIn(3z) dz.



\led’l( = AV - Su'd dx
(10) Find [ e cos(2z) dx.
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